14310:hCHHC MHOTOUNGHA
Hd MHORUTCIN
C0COOM ITYNNHNOBRY

Yuutenb MmatemMmaTuKku
XneBa Bepa BacunbeBHa
MKOY «MoctoBckaga COLL»
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ox(2-x)=10x-...
-3ay-12y=-3y(a+...)
(a-5)(11-8)=11a-as-55+...



e 3X(X-3)=3%x-9x

* 2X+3Xy=X(2+Y)

* (8+3x)(2x-y)=16Xx-8y+6x+3xY
* X(a+c)-2(a+c)=(a+c)(x+2)

* 2X-3Xy=X(2-Y)
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* 5a-db+ma-mb=
=(5a-5b)+(ma-mb)

* Xy+2y-2X-4=
=(Xy+2y)-(2x+4)

* ma+3a+mb+3b-m-3=
=(ma+mb-m)+(3a+3b-3)



B MaT€MAaTuKe, KaK 1 B CIIOPTE,
HaJ10 TIOCTOSTHHO TPEHUPOBATHCS
1 0TPa0aTHIBATh HABBIKU PCLICHMS
pa3IMYHBIX BUJIOB 3a1aHUH

1 OT JIETKOTO TIEPEXOIUTH

K 00J1€€ CIIOKHOMY



